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70 has removed one outer square on every new step moving in clockwise 90° rotations. The area decreases by one square
each time.
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a) 12¢<1q
b) 16514
c) Is=1Is
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Both children are incorrect. Each of the shapes has an area of 14 squares so they are equal.
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5<6<7
Mark correct if the shape has an area of 6 squares. There are many possible rectilinear shapes that can be

created with 6 squares. Here are some examples:
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70 has removed one outer square on every new step moving in clockwise 90° rotations. The area decreases by one square
each time.
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Both children are incorrect. Each of the shapes has an area of 14 squares so they are equal.
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5<6<7
Mark correct if the shape has an area of 6 squares. There are many possible rectilinear shapes that can be

created with 6 squares. Here are some examples:





